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QUESTION 1

You need to set up an SAP HANA system where several companies share the same SAP HANA instance. You have to
provide each company a dedicated share of the instance for its data, configuration and user management. 

Which deployment scenario do you use? Please choose the correct answer. Response: 

A. Multitenant database containers (MDC) 

B. Technical co-deployment (TCD) 

C. Multiple Components on One Database (MCOD) 

D. Multiple Components on One System (MCOS) 

Correct Answer: A 

 

QUESTION 2

Which of the following Inter-Service Communication properties binds the processes to entered address 

only and to all local host interfaces? 

Choose the correct answer. 

Response: 

A. Global 

B. Internal 

C. Local 

Correct Answer: B 

 

QUESTION 3

Which of the following statements are true regarding In-Memory computing security? 

There are 2 correct answers to this question. 

Response: 

A. Data and undo log information (part of data) are automatically saved to disk at regular savepoints 

B. The log is also saved to disk continuously and synchronously after each COMMIT of a database transaction 

C. The redo log captures last 5 minutes changes by database transactions 

D. After a power failure the system returns to its last consistent state by replaying the undo log since the last savepoint 
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Correct Answer: AB 

 

QUESTION 4

What is scale-out? 

There are 2 correct answers to this question. 

Response: 

A. Use of standby servers in the event of hardware failure. 

B. Use of remote servers to store archived data that is rarely used. 

C. Use of commodity servers that are used in high volume steaming applications. 

D. Use of multiple servers to spread processing and improve performance. 

Correct Answer: AD 

 

QUESTION 5

You implement a multi-host SAP HANA system with auto-failover capabilities. What are the requirements 

for the disk storage? 

There are 2 correct answers to this question. 

Response: 

A. The slave node is set to backup standby. 

B. The failed worker host gets fenced during failover. 

C. The standby host has file access. 

D. The master node is fully clustered. 

Correct Answer: BC 

 

QUESTION 6

How is a savepoint triggered in SAP HANA? Please choose the correct answer. Response: 

A. By performing a soft shutdown 

B. By committing a transaction 

C. By starting a log backup 

D. By executing a delta merge 
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Correct Answer: A 

 

QUESTION 7

You receive a new system from your hardware partner with SAP HANA 2.0 multitenant database 

containers preinstalled. 

What is a prerequisite to guarantee secure encryption of the data volumes? 

Please choose the correct answer. 

Response: 

A. Change the generated SSFS master key for the whole database instance. 

B. Change the generated password of the SYSTEM user. 

C. Update the connection information stored in the hdbuserstore. 

D. Regenerate the encryption root keys for the internal application encryption. 

Correct Answer: C 

 

QUESTION 8

What is a prerequisite for a system replication when the development (DEV) system and the quality (QA) 

system are installed on the secondary site? 

Please choose the correct answer. 

Response: 

A. The DEV and QA systems must be online during system takeover. 

B. The preload of tables must be switched off. 

C. The global allocation limit must be identical. 

D. The SIDs and instance numbers must be identical. 

Correct Answer: B 

 

QUESTION 9

Which security settings can you monitor in SAP HANA cockpit 2.0? 

There are 2 correct answers to this question. 

Response: 
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A. Data Storage Security 

B. Password Policy 

C. Manage Database Backups 

D. Manage Users 

Correct Answer: AB 

 

QUESTION 10

You created a restricted user in the DB1 database. Which commands must you use to convert the 

restricted SAP HANA user to a standard SAP HANA user? 

There are 3 correct answers to this question. 

Response: 

A. ALTER USER ACTIVATE USER NOW 

B. ALTER USER ADD REMOTE IDENTITY AT DATABASE DB1 

C. ALTER USER ENABLE CLIENT CONNECT 

D. ALTER USER GRANT ROLE PUBLIC 

E. ALTER USER GRANT CREATE ANY ON OWN SCHEMA 

Correct Answer: CDE 

 

QUESTION 11

In Web IDE for SAP HANA, what can I create in a HDB module? 

There are 2 correct answers to this question. 

Response: 

A. Calculation View 

B. Analytic Privilege 

C. HTML file 

D. Flowgraph 

Correct Answer: ABD 

 

QUESTION 12
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Which of the following SAP HANA Scenario enable the acceleration of standard ABAP reports? 

Please choose the correct answer. 

Response: 

A. Operational Data Marts 

B. SAP HANA Accelerators 

C. Agile Data Marts 

D. SAP BW/4HANA 

Correct Answer: B 

 

QUESTION 13

You are monitoring the application server of an SAP S/4 HANA system. You need to investigate on the 

SAP HANA database, but someone locked your personal SAP HANA user. 

Which tools can you use to execute an SQL query? 

There are 2 correct answers to this question. 

Response: 

A. SQL Command Editor of the DBA Cockpit on the application server 

B. SAP HANA studio on the SAP HANA server 

C. HDBSQL command line tool on the SAP HANA server 

D. SAP HANA cockpit 2.0 on a central server 

Correct Answer: AD 

 

QUESTION 14

Which components for an In-Memory Appliance do you need to consider for sizing? 

Choose the correct answer. 

Response: 

A. Storage 

B. Memory 

C. CPU 

Correct Answer: B 
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QUESTION 15

Which of the following recovery types is not supported for delta backups? Choose the correct answer. Response: 

A. Recover the database to its most recent state. 

B. Recover the database to a specific point in time. 

C. Recover the database to a specific data backup. 

Correct Answer: C 
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